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1. (A) ,      -   .   
. 31-3-2018       . : 14 

      

  :   50,000 

  40,000   32,000 

  30,000   50,000 

       10,000 80,000     40,000 

  :  -  18,000 

  21,000    

  14,000 35,000   

  25,000   

 50,000   

 1,90,000  1,90,000 

       .     : 

  

  30,000 

  40,000 

  56,000 

     ` 5,000    .      
` 3,000 .      ` 20,000     . 
         - 
    .  

 
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  (i)     : (  ) 7 

   (1)          

   (2)        . 

  (ii)   .  . 1, , 2017     .   

..    . 1, , 2017   . . 30, , 2018 

           : 7  

   (1) . 30/06/2018        ` 1,20,000 .  

   (2)     ` 10,80,000 ,       

` 1,80,000 .  

   (3)         :  

      ` 25,000 

     ` 7,200 

        ` 36,000 

        ` 2,000 

      (   ` 800) : ` 9,600  

       :  

    (1)       .  

    (2)            . 
 

 (B)          : (  ) 4 

  (1)     -   …..  

   (a)     

   (b)    

   (c)     

   (d)    

  (2)            …. 

   (a)     

   (b) -   . 

   (c) -    

   (d)    . 
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  (3)            ? 

   (a)   (b)     

   (c)       (d) (a)  (c) 

  (4)       

   (a)   . 

   (b)   . 

   (c)    . 

   (d)    . 

  (5)        _______  .   

   (a)    (b)   

   (c)    (d)    

  (6)      ? 

   (a)    (b)   

   (c)   (d)   
 

2. (A)     ` 10   25,000   20%      

 .         : 14 

      ` 4   

      ` 4   ( )  

         ` 4   

   32,000    .    2000    

       .  30,000    

            . 

               .  

  (a)  1,000        . 

  (b)  500      . 

           ` 7    . 

      .  

                        
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  (i)      (  ) 7  

   (1)            .  

   (2)     - . 

  (ii) (1)    ` 11           

` 9 ( )  .     1,100   . 

  ` 7( )  .        

  100       ` 7.5     

  .          

 .  7 

   (2)    ` 12           

.    ` 12 ( )   .  

   111   .   ` 11 ( )  

.       .        

  ` 11    .        

   . 
 

 (B)          : (  ) 4 

  (1)  ‘A’        _____    .  

   (a)  6%             (b) 18%  

   (c) 12%  (d) 5% 

  (2)            ______  .  

   (a)    (b)    

   (c)    (d)    

  (3) ` 10            

   (a) ` 0.50 (b) ` 0.10  

   (c) ` 0.15 (d) ` 0.20 

  (4)      ,          

      ______  .  

   (a)      (b)   

   (c)   (d)   
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  (5)               ? 

   (a)   (b)      
   (c)    (d)   
  (6)             

      ? 

   (a) 15     30    

   (b) 15     30    

   (c) 30     15    

   (d) (a)  (b) 
 

3. (A) ..  . 31-3-2018        : 14 

 `   ` 

 ` 100   2,000    2,00,000   6,40,000 

15%  1,000    
 ` 100  1,00,000 

 1,00,000 

10%  2,000   
,  ` 100  2,00,000 

  1,52,500 

   80,900   87,000 

  3,00,000   10,400 

  19,000   

  90,000   

 9,89,900  9,89,900 
 

         10%     .     
` 73,000  .          ` 100  
 10%    .    ` 50,000   
.            2   1 
     .      2013    
  .  

 
  (i)     : (  )  7 

   (1)        2013   55   
.   

   (2)    ‘’    .  
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  (ii)   . 31/03/2018        : 7 

 `  ` 

` 100    5,000 

  
  

 
5,00,000 

 

15,000 

  
 

4,00,000 
1,50,000 

  70,000  1,00,000 

   1,00,000   50,000 

 15,000   

 7,00,000  7,00,000 

    5    1      .    
  ` 35,000       
      .      
  2013     . 

 

 (B)          : (  ) 3 

  (1) M.R.T.P.         .  
   (a)      (b)      
   (c)       (d)        

  (2)  _______        .  
   (a)       (b)  

   (c)  (d)    
  (3) .. .          ` 10   ` 20 

     .     ` 32 .   
 . 

   (a) ` 4  (b) ` 2  
   (c) ` 3 (d) ` 5  

  (4)   2013   55       _______  
  . 

   (a)      
   (b) -    
   (c)                                    
   (d)   
  (5)     _______   .  
   (a)    (b)   

   (c)   (d)    
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4. (A)     . 31-03-2018       : 14 

 `  ` 

  
 

12,00,000 
3,00,000 

   ( ` 100  
) 10,00,000 

   3,00,000 8%   ( ` 100  
) 10,00,000 

SBI     10,000   5,00,000 

  1,20,000  1,50,000 

  
  

90,000 
80,000 

10%  SBI  (. 1-4-2017 

 31-3-2020 ) 
2,00,000 

 (1-4-2017) 30,000    3,00,000 

   70,000 10%   5,00,000 

  80,000   70,000 

  2,20,000   25,00,000 

  10,000   2,00,000 

 8,00,000   3,00,000 

 12,00,000   50,000 

 2,00,000     30,000 

   20,00,000   

  50,000   

  40,000   

 68,00,000  68,00,000 

    : 
  (1)    ` 50,000 .  
  (2)   10%,     15%    5%   

  .  
  (3)  ` 50,000      .  
  (4)   ` 70,000     . 
  (5)  ` 40,000   6    . 
    2013    3     .  

          
  (i)     : (  ) 7  

   (1)   2013      . 
   (2)   2013          

 .  
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  (ii)    . 31  2018       
 :  7 

   `  ` 

  (1-4-2017)  10,000 

   (1-4-2017) 7,500  

   (   ) 10,000  

    750 1,250 

-  (1-4-2017)  15,000 

     2016-17            
` 11,000      .      
` 25,000 .      50%     . 
            
      . 

 

 (B)          : (  ) 3 

  (1)    ` 30,000 (   10% );  2,25,000;    
` 30,000    ` 30,000          ? 

   (a) 33.33% (b) 25% 
   (c) 33.67% (d) 67.33% 

  (2)   2013  ________        
  ,           .  

   (a)  129  (b)  128  

   (c)  209    (d)  233 

  (3)          : 
   (a)      (b)      

   (c)      (d)    
  (4)      _______   . 
   (a)  (b)   
   (c)    (d)     

  (5) _________          . 
   (a)   (b)   
   (c)    (d) (a)  (b) 

___________  
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1. (A) Parth, Pragati and Paresh are the partners in a firm sharing profit and losses in 

equal ratio. The Balance Sheet of their firm as on 31-3-2018 is as under : 14 

Liabilities Amount Assets Amount 

Capital :  Building 50,000 

 Parth 40,000  Machinery 32,000 

 Pragati 30,000  Debtors 50,000 

 Paresh      10,000 80,000 Cash – Bank 40,000 

Partner’s Loan :  Profit & Loss A/c. 18,000 

 Parth 21,000    

 Pragati      14,000 35,000   

Secured Loan 25,000   

Creditors 50,000   

 1,90,000  1,90,000 

  The firm was dissolved on the above date and assets realised in the following 

instalments : 

Particulars Amount 

First Instalment 30,000 

Second Instalment 40,000 

Third Instalment 56,000 

  ` 5,000 was reserved for dissolution expenses, while actual dissolution expenses 

amounted to ` 3,000. A bill receivable of ` 20,000 maturing at the time of                       

3rd instalment was discounted with the bank.  

  Form the above information, prepare a statement showing piecemeal distribution 

of cash among the partners as per “Maximum Loss Method”.  

OR 
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  (i) Give the answer : (any one) 7 

   (1) Write short note on Surplus Capital Method of Piecemeal 

Distribution. 

   (2) Explain Time Ratio & Sales Ratio with illustration. 

  (ii) Janki Co. Ltd. was incorporated on 1st Oct., 2017 to purchase a running 

business of Shree PM Brothers from 1st July 2017. The accounts of the year 

ending on 30th June 2018 present following position : 7  

   (1) The gross profit for the year ending on 30/06/2018 was `1,20,000.  

   (2) The sales for the year was `10,80,000 of which the sales for the first    

3 months was `1,80,000.  

   (3) The expenses during the year were as follows :  

    Director’s fees ` 25,000 

    Bad debts ` 7,200 

    Salary and General Expenses ` 36,000 

    Preliminary Expenses Written off ` 2,000 

    Advertisement Expenses :  

    (Under Contract at the rate of ` 800 per month) ` 9,600  

    From the above particulars :  

    (1) Calculate the Time ratio and Sales ratio.  

    (2) Prepare a statement showing profit or loss to prior to and after 

incorporation. 

 (B) Give the correct answer from the following options : (any four) 4 

  (1) In piecemeal distribution of cash, the debit balance of profit and loss 

account is.  

   (a) Deducted from Partner’s Capital A/c. 

   (b) Added in Partner’s Capital A/c. 

   (c) Should not be distributed  

   (d) Deducted from the instalment 

  (2) In piecemeal distribution according to Surplus Capital Method, final deficit 

of each partner. 

   (a) will not be in ratio of Capital 

   (b) will be in ratio of Profit & Loss  

   (c) will not be in ratio of Profit & Loss 

   (d) will be in ratio of Capital 
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  (3) From which instalment Dissolution Expense Reserve will be deducted ? 

   (a) First Instalment (b) Second Instalment      

   (c) Last Instalment     (d) (a) and (c) 

  (4) Depreciation of Assets purchase by company is calculated in the 

   (a) Distribution by using Time Ratio  

   (b) Distribution by using Sales Ratio  

   (c) Post Incorporation cost     

   (d) Pre Incorporation cost 

  (5) Loss of Business prior to Incorporation will be debited to  

   (a) Profit & Loss Account (b) Goodwill Account  

   (c) Capital Reserve Account (d) None of the above 

  (6) Profit of Pre Incorporation is called  

   (a) Capital Income  (b) Revenue Income  

   (c) Capital Profit    (d) Revenue Profit 

 

2. (A) Krupa Co. Ltd. issued a prospectus offering 25,000 Equity Shares of ` 10 each at 

20% premium to general public. Amount called up per share was as under : 14 

   On Application ` 4 Per share  

   On Allotment ` 4 Per share (Including Premium)  

   On First and Final Call ` 4 Per share  

  Application was received for 32,000 shares. The company rejected applications 

for 2000 shares and money was refunded. 30,000 shares were allotted on Pro-Rata 

based, among remaining applicants and excess applications money was adjusted 

against money due on allotment. The company received all money except 

following : 

  (a) Ram did not pay allotment and call money on 1,000 shares. 

  (b) Lila did not pay call money on 500 shares.  

  All these shares were forfeited by the company and re-issued at ` 7 per share. 

Pass the necessary journal entries in the books of the Krupa Co. Ltd.  

OR 
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  (i) Give the answer (any one) 7  

   (1) Write a short note on: Forfeiture and reissue of forfeited shares.  

   (2) Discuss the advantages & limitation of Bought Out Deal. 

  (ii) (1) Viraj Ltd. had issued certain number of equity shares of each at ` 11 

per share on each share ` 9 (including premium) were called up. One 

shareholder holding 1,100 shares had paid ` 7 (with premium) per 

share. Hence his shares were forfeited. Out of these forfeited shares 

100 shares were reissued at ` 7.5 per share as fully paid up. Pass 

necessary journal entries of forfeiture and reissue of shares in the 

books of Viraj Ltd.  7 

   (2) Ved Ltd. had issued certain number of equity shares of each at ` 12 

per share on each share ` 12 (including premium) were called up. One 

shareholder holding 111 shares had paid ` 11 (with premium) per 

share. Hence his shares were forfeited. All these forfeited shares were 

reissued at ` 11 per share. Pass necessary journal entries of forfeiture 

and reissue of shares in the books of Ved Ltd. 

 (B) Give the correct answer from the following options : (any four) 4 

  (1) The maximum rate of Interest received by a company on call in arrears as 

per Table ‘A’.  

   (a)  6%             (b) 18%  

   (c) 12%  (d) 5% 

  (2) When shares are forfeited, then the amount called up on forfeited shares is 

debited to ...  

   (a) Share Capital A/c. (b) Share Call A/c. 

   (c) Capital Reserve A/c. (d) Share Forfeited A/c. 

  (3) On Equity Shares of ` 10 each, the minimum application money per shares 

should be...  

   (a) ` 0.50 (b) ` 0.10  

   (c) ` 0.15 (d) ` 0.20 

  (4) Company enters into a contract with a bank or a sponsor for purchasing it’s 

all shares before making public issue of the shares. It’s called  

   (a) Bought Out Deal  (b) Book Building Process  

   (c) Sweat Equity (d) Potential Equity 
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  (5) In which method the price of shares is to be fixed by mediator by taking 

steps one by one  

   (a) Book Building  (b) Bought Out Deal  

   (c) Sweat Equity  (d) Potential Equity 

  (6) In the tender method of Buy Back of shares, the offer of buy back shall 

remain open for members for a period of  

   (a) Not less than 15 days and not more than 30 days  

   (b) Not more than 15 days and not less than 30 days  

   (c) Not less than 30 days and not more than 15 days  

   (d) (a) and (b) 

 

3. (A) Following is the balance sheet of P.M. Ltd. as on 31-3-2018 : 14 

Liabilities ` Assets ` 

2,000 equity shares of ` 100 2,00,000 Fixed Assets 6,40,000 

1,000, 15% Redeemable 

preference shares of ` 100 

each 1,00,000 

Investments 1,00,000 

2,000, 10% Redeemable 

preference shares of ` 100 

each 2,00,000 

Current Assets 1,52,500 

P & L Account 80,900 Bank Balance 87,000 

General Reserve 3,00,000 Preliminary Exp. 10,400 

Securities Premium 19,000   

Current Liabilities 90,000   

 9,89,900  9,89,900 

  Company decided to redeem both types of Preferences shares at 10 % redemption 

premium. For this purpose Investments are sold for ` 73,000. After that company 

issued required no. of equity shares each of ` 100 at 10% premium so that 

minimum bank balance is maintained at ` 50,000. Existing equity shareholders 

are to be given one fully paid new equity share as bonus for two shares held by 

them from the capital redemption reserve. Write journal entries and prepare new 

balance sheet as per Company Act, 2013.  

OR 

  (i) Give the answer : (any one)  7 

   (1) State the provision of section 55 of Company Act, 2013 for 

Redemption of Redeemable Preference Shares.  

   (2) Discuss the provision of SEBI regulation regarding Right Shares. 
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  (ii) Following is the Balance Sheet of Dipali Ltd. as on 31/03/2018. 7 

Liabilities ` Assets ` 

5,000 Equity shares of                

` 100 each 5,00,000 

Fixed Assets 

Stock 

4,00,000 

1,50,000 

Securities Premium 15,000 Debtors 1,00,000 

General Reserve 70,000 Bank Balance 50,000 

Profit & Loss A/c. 1,00,000   

Creditors 15,000   

 7,00,000  7,00,000 

   The Company has issued 1 bonus share for every 5 equity shares held. For 

this purpose, whole amount of Securities Premium, ` 35,000 from General 

Reserve and remaining amount was utilised from Profit and Loss Account. 

Pass necessary journal entries in the books of the company and prepared 

Balance Sheet as per Company Act, 2013. 

 (B) Give the correct answer from the following options : (any three) 3 

  (1) As per M.R.T.P. Act, new shares can be offered to persons other than 

existing shareholders  

   (a) To any person  (b) To Director         

   (c) To Debenture holders  (d)  To creditors  

  (2) Company can’t issue Bonus Share in lieu of  

   (a) Unpaid Loan    (b) Debenture  

   (c) Dividend (d) None of the above 

  (3) P.M. Ltd. offers one right share of ` 10 each for ` 20 to its shareholders for 

every three shares. The market value of the share is ` 32. Calculate the 

value of right share.  

   (a) ` 4  (b) ` 2  

   (c) ` 3 (d) ` 5  

  (4) Under section 55 of the Company Act, 2013, Redeemable Preference Share 

can be redeemed  

   (a) Out of amount received from issue of shares.  

   (b) Out of credit balance of P & L A/c. 

   (c) Out of Revenue Reserve                                  

   (d) All of the above 

  (5) Premium of redemption of preference shares is written off against  

   (a) General Reserve  (b) Securities Premium  

   (c) Capital Reserve    (d) All of the above 
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4. (A) The following balances were extracted from the books of Shivang Ltd. as on         

31-03-2018. 14 

Debit ` Credit ` 

Purchase of raw materials 

Debtors 

12,00,000 

3,00,000 

Equity share capital (of  

` 100 each) 10,00,000 

Employee salaries and 

wages 

3,00,000 8% Preference share 

capital (of ` 100 each) 10,00,000 

Interest on SBI Loan 10,000 General Reserve 5,00,000 

Temporary Investment 1,20,000 Creditors 1,50,000 

Bills Receivable 

Office Expenses 

90,000 

80,000 

10% SBI loan (from 1-4-

2017 to 31-3-2020) 

2,00,000 

Stock (1-4-2017) 30,000 Profit & Loss A/c. 3,00,000 

Telegram & Postage 70,000 10% Debentures 5,00,000 

Stationery Expenses  80,000 Bills Payable 70,000 

Bonus to Employee 2,20,000 Net Sales 25,00,000 

Bank Charges 10,000 Short-term borrowing 2,00,000 

Motorcar 8,00,000 Other Income 3,00,000 

Machinery 12,00,000 Dividend Received 50,000 

Furniture 2,00,000 Profit on sale of  30,000 

Land & Building 

Interest on Debentures 

20,00,000 

50,000 

Investment  

Sales Expenses 40,000   

 68,00,000  68,00,000 

  Other Information : 

  (1) Value of Closing Stock is ` 50,000.  

  (2) Provision of Depreciation for Machinery at 10%, for Land and Building 

15% and motorcar 5%.  

  (3) Transfer to General Reserve ` 50,000 from the profit.  

  (4) Provide `  70,000 for income tax for the current year. 

  (5) Debtors include debtors of ` 40,000 for more than 6 months.  

  Prepare Annual Account as per Schedule-3 of Company Act, 2013.  

OR 

  (i) Write a short note : (any one) 7  

   (1) Explain the provision of Company Act, 2013 regarding Dividend.  

   (2) Prepare a Profit & Loss account of a company in accordance with 

Companies Act, 2013 with imaginary figures.  
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  (ii) Following Balances are taken from Trial Balance of Amul Co. Ltd as on 

31st  March, 2018 : 7 

Name of Account Dr. ` Cr. ` 

Provision for Income-tax (1-4-2017)  10,000 

Advance payment of income-tax (1-4-2017) 7,500  

Advance payment of income-tax (paid during 

current year) 

10,000  

Income-tax deducted at source 750 1,250 

Profit & Loss Account (1-4-2017)  15,000 

   Assessment in respect of Income-tax of previous year 2016-17 was 

completed during the current year and income-tax liability of ` 11,000 has 

been determined. Current year profit of the company was ` 25,000. The 

Company has made provision for income-tax at 50 % on current year profit. 

From the above information pass journal entries and show its effect in 

Balance Sheet and P & L Account of the company. 

 (B) Give the correct answer from the following options : (any three) 3 

  (1) If Credit sales is ` 30,000 (which is 10% of total sales); Purchases are 

2,25,000; Opening Stock ` 30,000 and Closing Stock is ` 30,000, then the 

rate of Gross Profit on Purchase is  

   (a) 33.33% (b) 25% 

   (c) 33.67% (d) 67.33% 

  (2) The Provision relating to publication of Annul Balance Sheet, Profit & Loss 

A/c. and Cash Flow Statement in the Annual General Meeting have been 

laid down under ________ of Company Act, 2013.  

   (a) Section 129  (b) Section 128  

   (c) Section 209    (d) Section 233 

  (3) In Balance Sheet the amount of Share Forfeited will be shown as  

   (a) Added in equity Share Capital (b) Under the head of Reserve and Surplus  

   (c) Deducted from Share Capital (d) None of these 

  (4) Unclaimed dividend is shown under the following head in the balance sheet.  

   (a) Share Capital (b) Secured Liabilities  

   (c) Reserve & Surplus (d) Current Liabilities & Provision 

  (5) _________ will be shown under the head of Current Liabilities and 

Provision.  

   (a) Bank Overdraft  (b) Bills Payable  

   (c) Expense Paid in Advanced (d) (a) and (b) 

___________ 


